
Bài 1: 

a) (2x y)(4x2 2xy + y2)

c) (2x3 21x2 + 67x 60) : (x 5)

e) (27x3 8) : (6x + 9x2 + 4)

Bài 2: 

a) (x + y)2 (x y)2

c) 98.28 (184 1)(184 + 1)

b) (6x5y2 9x4y3 + 15x3y4) : 3x3y2 

d) (x4 + 2x3 + x 25) : (x2 + 5)

b) (a + b)3 + (a b)3 2a3

Bài 3: 

A = (3x 5)(2x + 11) (2x + 3)(3x + 7)

C = (x 1)3 (x + 1)3 + 6(x + 1)(x 1)

B = (2x + 3)(4x2 6x + 9) 2(4x3 1)

Bài 4: 

a) x2 y2 2x + 2y 

d) x2  25 + y2  +2xy

g) x2y x3  9y + 9x

m) xz yz x2 + 2xy y2

Bài 5: 

a) 2x(x 5) x(3 + 2x) = 26

d) (2x 3)2 (x + 5)2 = 0

b) 2x + 2y x2 xy

e) a2 + 2ab + b2 ac bc 

h) x2(x 1) + 16(1 x) 

p) x2 + 8x + 15

b) 5x(x 1) = x 1 

e) 3x3 48x = 0

c) 3a2 6ab + 3b2 12c2 

f) x2 2x 4y2 4y

n) 81x2 4

k) x2 x 12

c) 2(x + 5) x2 5x = 0

f) x3 + x2 4x = 4

Bài 6: 

A = x(x 

B = x2 2x + 9y2 

Bài 7: 

A = x2  4x + 1 B = 4x2  + 4x + 11 C = (x 1)(x + 3)(x + 2)(x + 6) 

D = 5 8x x2 E = 4x x2 +1

Bài 8: 3 + x2 + a 2

Bài 9: 

A = 2x 6
(x 3)(x 2) B = x2 9

x2 6x 9

3x2 4x

Hoc360.net



D = x
2 4x 4

2x 4
E = 2x x2

x2 4
F = 3x2 6x 12

x3 8

a)

b) 0.

c) trên.

Bài 10: 

a) x 1
2x 6

2x 3

x2 3x
b) 3 x 6

2x 6 2x2 6x

c) x x 4xy d) 1 1 3 x 6
x 2y x 2y 4y2 x2 3x 2 3x 2 4 9x2

Bài 11: 2005 + 52003 

1 1 4xy
Bài 12: 

2 2xy 2 2 2
:

2 2

x y x y y x

Bài 13: 2 2 x 1 x x 1 2x
3x x 1 3x 1 : x x 1

Bài 14: A 
1  2x 1

.
2

1x 2 x2 2 x x

a) Rút A.

4

b) 2 + x =0

c) 1/2

d)

Bài 15: B 
21 x 4 x 1

: 1
1

a) B.

x2 9 3 x 3 x x 3

b) 2x + 1 = 5

c)
3

5

d) 0

Bài 16: 

M 10x2 7x 5
2x 3



Bài 17: 

a) 5 (x 6) = 4(3 2x)

b) 3 4x(25 2x) = 8x2 + x 300
d) 3x 2 3x 1 2x 5

2 6 3

c)
5x 2 8x 1 4x 2 5 

6 3 5

e) x 2x 5 x 8 7 x 1
5 6 3

Bài 18: 

a) 2x(x 3) + 5(x 3) = 0 d) x2 5x + 6 = 0

b) (x2  4) (x 2)(3 2x) = 0 e) 2x3 + 6x2 = x2 + 3x 

c) (2x + 5)2 = (x + 2)2

Bài 19: 

a)  
1  5  15 d)

1 3x2 2x
x 1 x 2 (x 1)(2 x) x 1 x3 1 x2 x 1

b)  x 1 x 5x 2 e)
7

5 x x 1 1
x 2 x 2 4 x2 8x 4x2 8x 2x(x 2) 8x 16

c) x 5 x 5 x 25

x2 5x 2x2 10x 2x2 50

Bài 20: 

a) x 5 = 3 d) 3x 1 x = 2

b) 5x = 3x 16 e) 8 x = x2 + x 

c) x 4 = 3x + 5

Bài 21: 

a) (x 3)2  < x2  5x+ 4 f) x2 4x + 3 0

b) (x 3)(x + 3) (x + 2)2 + 3 g) x3 2x2 + 3x 6 <0

c)
4x 5 7 x

3 5

d) 2x 1 3 3 5x 4x 1
2 3 4

e) 5x 3 2x 1 2 3x 5 
5 4 2

Bài 22: 

h) 
x 2

0 
5

i) 
x 2

0
x 3

k) 
x 1

1
x 3

a) a2  + b2  2ab 0 d) m2 + n2 + 2 2(m + n)



a b
b)

a2 b2
ab

2
e) (a b)

1 1
4

c) a(a + 2) < (a + 1)2

Bài 23: Cho m < n. Hãy so sánh:

a) m + 5 và n + 5 c) 3m + 1 và 3n + 1

b) 8 + 2m và 8 + 2n d)

Bài 24: 

m
5 và

2

n
5 

2

a) a + 2 > b + 2 c) 3a + 5 > 3b + 2

b) 2a 5 < 2b 5 d) 2 4a < 3 4b

Bài 25: 

Bài 26: 

Bài 27: 

cùng ngày.

Bài 28: Hai xe m

lúc.

Bài 29: 

Bài 30: 



Bài 31: 

Bài 32: 

Bài 33: 

Bài 1: Cho hình bình hành ABCD có BC = 2AB và góc A = 600

a) gì?

b) ?

c) AED.

Bài 2: Cho 

a) hành.

b)

Bài 3: héo (không vuông góc), I 

K.

a) hành.

b)

c) hàng.


